4% Rst ToroRs Multiplication
Name-________ Starttime-__:__ Endtime-__:__
Fill in the missing numbers :

a) _ x8=24 a) 10x5=___

b) _  x9=72 b) 6x3=__

) ____x7=256 c) 7x7=__

d ____x1=38 d) 9x9=___

e) _ x8=280 e) 10x10=___

fy _ x8=96 f) 12x12=___

g) ___ x9=72 g) 40x ___ =800

h)  x3=24 h) 100x _ =1000

) _ x4=32 i) 90x __ =1800

i) ____ x8=140 j) 100x ___ =4000

kf  x 8= 88 k)] 30x =600

) _ x11=88 ) 20x ___ =200

m)__ x8=56 m) 80x ___ =6400

n _ x12=96 n) 50x ___ =3000

o) _  x8=16 0) 260x ___ =2600

CHALLENGE

* If on average a person blinks 28,800 times a day, how many
times will they blink in 3 days?
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